Revision kit Q20. Q3 (Impairment of FS, Reversal, Inventory)
IMPAIRMENT OF FINANCIAL ASSETS (RECEIVABLES)

The above is known as writing of bad debts. It as two recognition criteria:

Objective evidence

Recoverable amount

OBJECTIVE EVIDENCE

But there is no such thing as “general objective evidence”. Objective evidence must be specific. So Wider cannot use general provision.

TRAY

The evidence is objective evidence and the $4.1m is the future recoverable amount. So impairment vould be recorded as follows:
BEFORE (carrying value)
$4m

Impairment


($0.1)m

AFTER (recoverable value)
$3.9m          ($4m was discounted by 5% because the payment promised next year)

MILK

The cash expected from Milk is $2m to be paid 2 months after the y/e (very small). So, no impairment.
OTHER

The cash expected from “other receivables” is $4.6m in 4 months after y/e. The results in impairment as follows:

BEFORE (CV)


$5m

Impairment


($0.4)m

AFTER (RV)


$4.6m          (not discounted by 5% because not full year)

SUMMARY

So in summary we have the following:


Before
Impairment
After

Tray
4
(0.1)
3.9
Milk
2
0
2
Other
5
(0.4)
4.6

11
(0.5)
10.5

MATERIALITY
The truth is that Wader got roughly the same figures by wrong method ($520 v $500). The difference of $20k is immaterial and so Wider do not need to adjust the FS this year. But next year they need to make sure the correct method is used.
Revision kit Q20. Q3 (Impairment of FS, REVERSAL, Inventory)

c) Building cost is $10m, 20 years live, on 1st year value was $8m and the year after $11m

IMPAIRMENT

Last year fallen value should be recorded as impairment.

REVERSAL

This means that the current rise in value is initially a reversal of that impairment.
REVALUATION

Then the extra on top is a revaluation

BASIC REVERSAL RULE

The current reversal is limited to the prior year impairment
ADVANCED REVERSAL RULE

The current reversal is also limited by the historical NBV(net book value)
THE NUMBERS

Here are the numbers:






          $m
COST
10
1st year Depreciation (10m/20years)
(0.5)
BEFORE
9.5

Impairment
(1.5) 
I/S  last year’s
AFTER
8
2nd year Depreciation (8m/19years)
(0.4)
BEFORE
7.6
Reversal
1,4
 I/S because went through I/S
HISTORICAL NBV (10- 2year depr)
9                would have $9m if nothing had happened
Revaluation
2                OCI
AFTER
11
Revision kit Q20. Q3 (Impairment of FS, Reversal, INVENTORY)

INVENTORY – IAS2
The stock is valued at the lower of cost and Net Realisable Value (NRV)

COST

The above is all expenditure in bringing the inventory to its present location and condition. Given as $35 per unit.

NRV

Net Realisable Value is future expected selling price less future cost to the point of sale.

IAS 2

But IAS2 is old, so like a lot of old standards IAS2 does not really explain itself.

 IAS2 does not define costs at the point of sale. However, there is worldwide culture of interpreting this as relevant costs.

List price
50

Discounts
(2.5)
Selling price
47.5

Commission (20%)(50)
(10)
NRV
37.5

CONCLUSION

So no impairment: NRV $37.5  >  Cost $35
